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�9�\�S�V�D�Q�p���V�N�X�S�L�Q�\���D���W���t�G�\�� 
4.3.2.1 �0�L�V�W�U�R�Y�V�W�Y�t���)�,�$��ERT: 

�7���t�G�D Skupiny  

RC2 

S2000-Rally: 1.6T s restriktorem 30 mm 
S2000-
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Kategorie 1  (periody: D, E, F/D1) 
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4.4.4 �G�O�H���þ�O����4.3.2.2 �1�i�U�R�G�Q�t���D�X�W�R�P�R�E�L�O�\���± 
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�6�H�U�Y�L�V�Q�t�� �Y�R�]�L�G�O�D���� �Y�R�]�\�� �S�U�R���V�H�]�Q�D�P�R�Y�D�F�t �M�t�]�G�\�� �D�� �G�D�O�ã�t�� �Y�R�]�L�G�O�D�� �R�]�Q�D�þ�H�Q�i�� �]�Y�H
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12.2  �&�t�O�R�Y�ê���F�H�U�H�P�R�Q�L�i�O 

�6�R�X�W���å�Q�t���W�U�D�"���N�R�Q�þ�t���Y���ý�.��
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1. �9�ã�H�R�E�H�F�Q�i���X�V�W�D�Q�R�Y�H�Q�t���������������������������� 


